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973 KDY 7t WNINY — He abandoned the wall and did not
rebuild it

Overview

The Xn»92 states that if the 071277 ¥2 abandons the rebuilding of the wall,
then the produce acquires the status of 0°X?> and is 70X. In addition the 5va
0107 is liable for damages. It seems from the Xn>92 that both the 0% MoK
and the liability of the 01277 ¥2 are dependent on the 711> wX°ny'. Otherwise
if he is still trying to rebuild the wall then it will not become 2°X?3, and
obviously there is no liability. It is not clear why the 2°X%> M0°X depends on
the 'wx°n1'. Concerning the 211 to pay, it is understood that as long as he is
trying to repair the damage we cannot hold him responsible; he is doing all
he can'. However concerning the 0°X?> MoK, that should be independent of
his "'wxon1'. If it was 0>n&» 7°017 it should become 0°X?3, regardless whether
he was wXn1 or not. Md0N will clarify this issue.

WNoNI X7 — It becomes 2°X?> only specifically when he abandoned all
efforts to rebuild the wall —

wR N1 RY 928 — however if he did not give up
=730 7Y 92 o — and he is continually occupied in rebuilding the wall

2NR2 70T 5 Y X — even though that a two hundredth was added to
the growth of the produce in the duration —

an» — the produce is permitted to be eaten. There is no X3 MoK even if oM
akidalival

(" mwn 7 pao) ORDD NOOMA JINTD — as we learnt in a maw» in 2985 noon

2923 P9° IR — one who sees a vegetable in a vineyard which is considered
o°X?3 if they are growing close together —

uUphR 2wy paRws %K) — and he said when I will arrive there, I will
gather it%: the 17 is that even if it grew -
TN 29087 007 — an additional two hundredth, by the time he arrived to

harvest it, nevertheless it is permitted. There is no 2°X7> 70°X. On the other hand,
if he said instead —

uupPbR nRws® — when I shall return (from whatever he intended to do
then) then I will gather it’, then the 77 is -
TR 2»nRn o1 — if it added a two hundredth during this interlude the

produce is prohibited. It has the status of 2°%%3. This concludes the quote from the
MIwn in DOX7D.

' See previous X 1"7 Mo, footnote # 6, that *n1x is only T2 2°m.
? This expression indicates that he is pursuing to rid his field from 2°x93 as soon as possible.
? This indicates that he is not in a special hurry to eradicate x93 from his field.
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NWIPY MR WA RITWD RAYX — it is apparent that when he is pursuing to
gather the vegetable (as soon as possible) —

2N 2%NRR 707 19988 — even if 29nK» was added during his pursuit of
harvesting it, it is nevertheless permitted.

The question is, what difference is there whether he is pursuing to rid his vineyard of
o°R%> or not. Seemingly it should depend only on whether it was 2>nXn 7°017 or not.
mooIn explains:

wAsh WY aywm — the reason for this 17 may be explained as follows:

(35 z1a7) 29027 21 — for it is written in the 770

29> 7272 ¥71n XY — do not plant (in) your vineyard 2°8%>. This teaches us
that the Mok of 2°k%> needs to be —

Y5977 X927 — similar to planting. There is an 2°X75 M0°X even when one does not
actually plant them together. If they happen to be growing together, even without any
conscious effort to plant them, it is still prohibited to maintain 2°X?3. Nonetheless this
prohibition against maintaining 2°k?> applies only when it is similar to planting. This
similarity consists that just like by planting it is obvious —

9% 817 — that he is pleased with his planting 2°X%, for otherwise he would not
plant the o°k%>. Similarly when 2°X%5 is growing in one’s field it is becomes prohibited
only when there is a certain satisfaction that it is growing. Therefore in the case in 'on
o°X?3, when he is pursuing to gather the vegetable as soon as possible it does not become
ToR. It is apparent that he is not satisfied with the o°8%> growth. Therefore it is irrelevant
how much it grew in the meantime, since he is not satisfied. However when he is not
pursuing to gather the p7° immediately, but states rather that he will do it when he gets
around to it, this demonstrates that there is a certain satisfaction with the o°x%> growth
(for otherwise he would uproot it as soon as possible), therefore if 2>»>nkn 7°017 it is O°R92.
The same applies to the rebuilding of the wall. As long as he is involved in building the
wall, he is demonstrating that he is not satisfied with the o°x9> situation. It is only when
he is wX>n from building the wall that it becomes T0X. He is demonstrating that he is not
bothered (and in fact satisfied) by the 2°&%3 growth.

Summary
The 109 states 2 X732 170 Y10 X?. We derive from this that the 2°X%0 210X is

only when one is pleased with the o°X%> growth; as is the case when one
plants 0°&72. Where one demonstrates that he is not satisfied with the °X?>
growth, it is not 2°&?2. This explains why as long as the 07377 %¥1 is involved
in repairing the wall there is no 2°%%3 Mo°X. Similarly when one is going
directly to uproot o°X?3, it does not become o°X?, regardless how much it
grew in the duration.

Thinking it over
Seemingly even if the 01077 5¥2 was wX°n1 it should not become 2°X%2, since
the 7X12n7 ¥ is not happy with the situation.
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